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Sr Questions Answers Choice

1
Choose the correct option according to the grammar
I wore a coat because it was cold. The underlined word is a/an ...........

A. coordinating conjuction
B. subordinating conjuction
C. adjective of time
D. adjective of number

2
Choose the word with correct spelling
We cannot buy these toys because of their excessively high prices.

A. somewhat
B. overly
C. a little
D. fearfully

3
Choose the word with correct spelling
The word vindictive means:

A. dedicate
B. revengeful
C. experiment
D. text

4 Students are easily distracted by the loud noice of TV or electricity generators.
A. enjoyed
B. confused
C. pleased
D. disturbed

5 The beauty of woods bewitches minds.
A. forest
B. hill
C. desert
D. sea

6 Choose the correct meaning of the underlined word

A. People must develop more
<u>awareness</u> about noise
pollution.
B. rationalism
C. knowledge
D. realization
E. reality

7 Choose the word with correct spelling
A. envronmental
B. inveronmental
C. environmental
D. enveronmental

8 Choose the word with correct spelling
A. ditract
B. destract
C. destrect
D. distrect

9 Choose the word with correct spelling
A. electronic
B. alectronic
C. electranac
D. ilectronic

10 Choose the word with correct spelling
A. devalop
B. devolop
C. develop
D. davelop

11 She will be .............. her lesson in music in the morning.
A. take
B. took
C. taken
D. taking

12 We have .............. the football match.
A. win
B. been won
C. won
D. had won

13 They .............. taking exercise since morning.

A. are
B. have been
C. has been

D. were

14 Girls were ...........
A. sing
B. sings
C. sung
D. singing

A. meet
B. am meeting



15 I .......... her in the plane. B. am meeting
C. met
D. have been meeting

16
Choose the correct option according to the grammar
I am glad 'that you like it. The underlined clause is an adverb clause of:

A. condition
B. place
C. time
D. reason

17

Choose the correct option according to the grammar
After the thief had stolen money, he left home quickly. The underlined part of the
sentence is a/an:

A. adverbial clause of time
B. adverbial clause of place
C. adverbial clause of reason
D. adverbial clause of concession

18
Choose the correct option according to the grammar
The transitional device "on the whose" is used for:

A. comparison
B. exemplification
C. summarization
D. sequencing

19
Choose the correct option according to the grammar
Identify the transitional device in the following:

A. moreover
B. over
C. beside
D. quietly


